i} _u__
I+ 0
o M
0 i
il uH

&0
1l
H
®

EH 23330.

W I
ooz o<
R ot o o
RGN
Al g ™ S HO
all gjo OF =7 I-

M — jou —_
HRmS=

ml ol
oo el gy 1l
B % gy 0
11] E_m o M K
< ol ol OF
10—

car =< =

Y

Mo M o3 %

Rl <] g
00 ™3y }
i Hu m_.._ T ﬂ___
Ul [ G

o

9
==
'E
2t S| ™
E —_

teS dAE.
| g&4EHoH a2 EHE 7HK|

O

—

S

5.
e

el A8 ol 7t

124

=
=2
=

RS

O B

AFE cle ol 2f

=

o 5 <

=1
=

=
E

=l
24
=]
A

LIPS

B

| Ql

ol
<I
od

ol
Ju

E

et

I

Az
HOS
7l TH
mu I+

b

*El, #SH

|, oted =

KoL
10
o~

a8

@ || ©

Ty

ey

zy

by

HOo|X|1~2| 2
JHAl: 13.10.2023

bs
bs

G_ﬁ.m

bs

l2

I
Ly

ls
l3

NHALDER




2Yg RE
E= ¥z
FE2 3e
Qur [ FE P x| x| a & 1 ME #Hs
X% | 23R el
dy [ by | by|bs| by |bs| hy [ hy | hy hy| hy [ hs hg|hy| Iy | b |15 L|1s|F | F E|A |Z|CH
Z| A Z|CH
[mm] [mm] [kN] [°’C] |[g]
AE!
3 M6x35 | 6,1 45| 6|5 255|37|1765| 61|12 |34|415 /20| 6 (32| 77| 63 40| 9|25| 1,0/ 1,2 |105° | -10 | 80 [272/23330.0623
4 M8x45 | 6,5 |55 8|6 | 285 |43 2230 | 71|18 |40 485 24| 7|38|112 111 |65 |11 |43 | 1,4 | 2,5 | 105° | -10 | 80 |551/23330.0624
5 M8x65 | 85 |63 |10 |8 | 320 |52|280,0 102|20 |53 81,5 |32|54|96|140 129 |84 17|50 2,0 | 3,0 | 105° | -10 | 80 |885/23330.0625
HMIME
d, i ME ¥,
[mm] [a]
S LINES 2= oflH| 8)
: M6 x 35 16 23330.9003
M8 x 45 38 23330.9005
M8 x 65 57 23330.9006
T8 &
A E &4 HEE Eo{M Hete 5 HESE MESAAIL.
HO0|X|2~2] 2

tNHALDER

THA

|: 13.10.2023


http://halder.com/kr/23330.0623
http://halder.com/kr/23330.0624
http://halder.com/kr/23330.0625
http://halder.com/kr/23330.9003
http://halder.com/kr/23330.9005
http://halder.com/kr/23330.9006

